A & ol & AF S F A A
P022HE 2O GHAEBIIYSHE A
o200 M2
B 210 FATALSLY
211 ALY (£ @ e )
T.ou-g-2 Ol & 24 & A & Of ko HI D5 2t
z o 61,103,322 71,500,822 | ~10,397,500
200 AI2l 42 38,691,495 40,760,822 | 2,069,327
210 ZAE ML 34,039,495 34,399,822 360,327
211 THAH I CH 4 ) 348,640 350,510 A1,870
211-02 ZRMMLHE 348,640 350,510 A1,870
< otaDt > 348,640 350,510 A1,870
O BBa+HUY EXNFI2(SII0I&H ) 2,100
O BT+ MUY EXNFS2(BALHI) 3,110
O BT+ MUY EXNES2(HSFLH) 61,008
O ZZH4H2IY EXNHBR(SHLHI) 36,300
O Z2H4H2IY EXNHBR(LEIAE) 810
O BBH+HAY EXNEER 243,038
O+BEY EXEEE 2,274
212 AEEB4Y 33,519,604 33,872,752 353,058
212-03 B+ =AM 2 33,519,694 33,872,752 353,058
< otaD > 33,519,604 33,872,752 353,058
O St+EBIYSHE3 33,519,604
- G4 E MNBE(4LEE) 20,842,604
hE g 9,913,694
Aptg 9,909,000
sgg 214,000
=R 806,000
- GI+E ASE(Xote: 2 BYSLE) 12,677,000
HE g 15,000
Aptg 1,626,000
sgg 455,000
=R 10,581,000
213 +424¢ 71,161 76,560 A5,399
213-05 JIEF 42 71,161 76,560 £5,399
< otaD > 71,161 76,560 ~5,399
O BBot4+M2IY SHUHI| WO SHE(2%) 3,666
O BBHAM2IY SHUFI| WV HHE(2%) 7,495
O ot+Mel™ 2uHel +48 60,000
216 OIXt4+2 100,000 100,000 0




g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
216-01 S0 S0l X+ 100,000 100,000 0
< otx=1t > 100,000 100,000 0
O 3303 olkt=¢ 100,000
220 SAIFHAN2 == 4,352,000 4,361,000 A 9,000
224 JIEt=¢ 4,002,000 4,011,000 29,000
224-07 12 =+=¢ 4,002,000 4,011,000 A 9,000
< Gt==1t > 4,002,000 4,011,000 29,000
O SAENNI| HHE= Mel =8 132,000
O ot=s2dXl HMel R42 20 =23 90,000
O S3H=Hcl& ML MEBE 3,780,000
225 XNt &2 350,000 350,000 0
225-01 At =g 350,000 350,000 0
< ot=1t > 350,000 350,000 0
O o= ANEZ Ol=3 350,000
230 NLHEMM - 23 300,000 2,000,000 1,700,000
236 FE€= 300,000 2,000,000 A 1,700,000
236-01 R €= 300,000 2,000,000 1,700,000
< ot > 300,000 2,000,000 A 1,700,000
O 335+ JX 223 300,000
500 X3 20,669,827 28,406,000 NT,736,173
510 = DEX3S 19,739,827 27,461,000 AT, 721,173
511 =102X3S 19,739,827 27,461,000 AT,721,173
511-01 2 1EX3 19,739,827 27,461,000 ANT,721,173
< Gt==1t > 19,739,827 27,461,000 ANT,721,173
O =207 ot=2H FUAY 4,407,000
O =g+ ot=2H FHlAE 1,894,000
O RALXEEF ot=2H HHIALS 1,355,000
O HEEF dt==21 FHAY 948,000
O LE6t+=22 ui & BExAd 1,653,000
O & HH? SteXMelAlE EXAY 1,248,000
O CHJl btSot=E HUIAY 304,000
O == 0tSot=k FUAEY 338,000
O dt&2 btsdt=% EUIAY 90,000
O 8= OtSot=k FUlAE 23,000
O M= sE22UXNE =0T A 1,456,000




& 500 X3
2 510 2DPE3S
g: 511 2DPE3S (2r9:88)
R T Ol &k 24 B ol by HZE2
O 2AH&BHEY BTLAIY AIE 202 4,696,000
O L&ot+=22 HUXAH(3X) 757,000
O MK SAINA ZE8H NAANL 570,827
520 Al - SHIEXZ=S 930,000 945,000 A 15,000
521 Al - EHIEX3S 930,000 945,000 A 15,000
521-01 Al - SHIEX3S 930,000 945,000 A 15,000
< of==1t > 930,000 945,000 A 15,000
O BFIZAL QAETAY 483 420,000
O 2AB+BHEHIAY BTLAIY A& 2R 201,000
O S 2iEtel steHelAla XA 268,000
O ANULE(=8S) 222 B3 A 10,000, 000 10,000
O A8Z ZAMR2 B AL 16,000, 000 16,000
O MES EZ2M =2 &8l SAt 15,000, 000 15,000
700 BEd A STURHAN 1,742,000 2,334,000 A 592,000
710 B82S 100,000 200,000 A 100,000
711 403 100,000 200,000 A 100,000
711-01 =AAHLAHS 100,000 200,000 100,000
< of==1t > 100,000 200,000 A 100,000
O =HHYZ 100,000
720 LHE HeH 1,642,000 2,134,000 A 492,000
721 M3 1,642,000 2,134,000 A 492,000
721-03 JIEtS AN L = 1,642,000 2,134,000 A 492,000
< ob==1t > 1,642,000 2,134,000 A 492,000
O gursl o3 645,000
- 2EsEY FAEYH 645,000,000 645,000
O +FNMSHEH HAS(SL=HZ2IIB) 997,000
— 4 e SteXelAlE XA 164,000
- SMXF ot=21 ALY 4,000
- otZ2FHl BTLAIY A& UHZE 197,000
- SL0IEEF ot=2H FHAMS 219,000
- LS:o=22 FHAY 152,000
- 2YEP 5B FHAY 154,000
- FLXEEFR ot=2H FHAMG 107,000
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2N

X{ XH -
S =

= ) A 2el (st S SE 3 (&2 &)
SA - E . B (3H) - 0 Ak o8 ﬁlf& HDS2
O 22X N 3,000
O =g ELAE 21,000
O =E&83 AIRA 1,000
202 04| 7,000 4,000 3,000
01 2L Y| 7,000 4,000 3,000
O ot M=ol 4,000
O E&EA H8X 3,000
206 M = dl 45,000 45,000 0]
01 X2 bl 45,000 45,000 0
O o= Al2tel X2 45,000
305 &2 30,000 30,000 0
01 Hi &= 30,000 30,000 0
O ot=% 201 & 30,000
ot4=E9o AX & 22| (dt=2H &HH|)- 6,296,000 5,856,000 440,000
T o201 dHIALY
= 4,407,000
Al 1,889,000
401 Al HI L £ 0HHI 6,296,000 5,856,000 440,000
= 4,407,000
Al 1,889,000
01 A& Hl 6,096,000 5,456,000 640,000
O SLDIEZF ot 6,096,000
= 4,267,000
Al 1,829,000
02 22l 200,000 400,000 A 200,000
O =sL0IEZF ot 200,000
= 140,000
Al 60,000
ol AX 22| (oh =2 H - HI)- 2,706,000 5,065,000 A 2,359,000
2 HHIAY
= 1,894,000
Al 812,000
401 Al HIL 201 2,706,000 5,065,000 A 2,359,000
= 1,894,000
Al 812,000
01 Al& H| 2,456,000 4,565,000 A 2,109,000
OR=E ot =2t 2,456,000
= 1,719,000
Al 737,000
02 2teltl 250,000 500, 000 A 250,000
OR=2 ot == 250,000
= 175,000
Al 75,000




e e
HH: eI Be
©@He: Ste=Z A 22(Gt=CSIESLERH ) (=3I S SEEAH) (22 &d)
= s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
Stacol B ¥ Bl (GHABHPU)-RLEEER 1,936,000 2,682,000 A 746,000
ot FHIALLY
=2 1,355,000
Al 581,000
401 AIEBIZ S CHYI 1,936,000 2,682,000 AT46,000
= 1,355,000
Al 581,000
01 Al&HI 1,736,000 2,472,000 A736,000
O FEXEE2F ot==2H HHIAEY 1,736,000
= 1,215,000
Al 521,000
02 2feldl 200,000 210,000 A 10,000
O FLXESF ot=2H FHIAMZY Zealdl 200,000
= 140,000
Al 60,000
Stagel £ % Bel(ohBANZH)-HFET ot 1,354,000 714,000 640, 000
201 ZFHIALE
= 948,000
Al 406,000
TAIEHI 20U 1,354,000 714,000 640,000
= 948,000
Al 406,000
01 A€ dl 1,244,000 714,000 530,000
O HEE2F ot=2H ZFHIAS 1,244,000
= 871,000
Al 373,000
02 Zeldl 110,000 0 110,000
O HE=2+ ot==2 HHIAMY 2l 110,000
= 77,000
Al 33,000
St==o &X ¥ Zel(st=2HFH)-2o=22 2,253,000 3,156,000 903,000
DH E ESAY
= 1,653,000
Al 600,000
401 AIEHI L 2CHYI 2,253,000 3,156,000 A903,000
= 1,653,000
Al 600,000
01 A€ Hl 2,053,000 2,656,000 603,000
O L=ot=22 UMY 2,053,000
= 1,553,000
Al 500,000
02 Zeldl 200,000 500,000 A300,000
O LZot+=22 FHAY AL A 2el 200,000
= 100,000
Al 100,000




2AM: Gt
M saczIlne
Gl otx=E M2 (St 2INILSEI A ) (G2 LSESAH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Stacol £ ¥ Tel(s0lE0Sot4aEZH)-0O 434,000 355,000 79,000
Ot2dt=% HUlAS
2 304,000
Al 130,000
401 A& BIZ 201 8] 434,000 355,000 79,000
= 304,000
Al 130,000
01 A& HI 434,000 355,000 79,000
O CHIIX = OtSot=== HUIAE 434,000
= 304,000
Al 130,000
StaEol X ¥ B2I(SUENSHASHU)-BS 483,000 393,000 90,000
O2dt=% HUIAS
= 338,000
Al 145,000
401 Al Bl 2B 483,000 393,000 90,000
2 338,000
Al 145,000
01 A& HI 483,000 393,000 90,000
== tSot=< EHIAE 483,000
= 338,000
Al 145,000
St4Eol HX 2 Be(SHE0SoHEEHH)-Z4 70,000 100,000 30,000
A= OtSot=% HHUIAY
= 23,000
Al 47,000
401 Al& B2 2B 70,000 100,000 A 30,000
= 23,000
Al 47,000
01 A& HI 70,000 100,000 230,000
O =X+ Ot8ct=5 EHlAS 70,000
2 23,000
Al 47,000
StaEo HX ¥ B2I(SOHENSHEEHU)-GE 132,000 338,000 206,000
=X+ 0tSot=& FH A
2 90,000
Al 42,000
401 Al& I 28I 132,000 338,000 A 206,000
2 90,000
Al 42,000
01 A& HI 132,000 338,000 A 206,000
O StE2X+ 0tSct=S EHIAY 132,000
= 90,000
Al 42,000
St MX o B (SANALUS)-ME2T 55 2,080,000 3,896,000 ~ 1,816,000
el XS H=02ArY
= 1,456,000
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M St 302
& St A 22 (=S 3INESES) (st =S SE3l (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 624,000
403 MtXISHHSA=0l& 2,080,000 3,896,000 A 1,816,000
= 1,456,000
Al 624,000
02 SO 2SOCHsH 2R 2 &AM I 2,080,000 3,896,000 A 1,816,000
ORXMEER ZH22XY A0gAd 2,080,000
= 1,456,000
Al 624,000
ot AX 2 el(HHRot+=HMel & &XI)-4aH 1,783,000 1,914,000 A 131,000
S3otx=HelAlE Arg
= 1,248,000
< 268,000
Al 267,000
401 Al HI 2 28I 1,783,000 1,914,000 A 131,000
= 1,248,000
< 268,000
Al 267,000
01 A& HI 1,643,000 1,744,000 A 101,000
O &4 et St=HMelAld 8XAE 1,643,000
= 1,150,000
< 247,000
Al 246,000
02 Zeltl 140,000 170,000 230,000
O & HH StHelAld dXIAte 2eldl 140,000
= 98,000
= 21,000
Al 21,000
St==9 &X ¥ 2el (ot=2tAHFHIBTLEUE) 6,799,000 6,664,000 135,000
= 4,696,000
< 201,000
Al 1,902,000
402 RI2FX=01 M 6,799,000 6,664,000 135,000
= 4,696,000
< 201,000
Al 1,902,000
03 RIZHRIEF AL HI 6,799,000 6,664,000 135,000
O Z4otot+=211F 8l BTLAIYE AlE2 = 6,799,000
= 4,696,000
= 201,000
Al 1,902,000
ARG 2t A JHl BTLALE AIE 2 Z Hl 1,551,200 1,521,200 30,000
201 et 1,200 1,200 0
01 At 22l 1,200 1,200 0
O &3l ds 29 =¥ 1,200
402 RI2EX20| ™ 1,550,000 1,520,000 30,000
03 BIZHR{EF AL HI 1,550,000 1,520,000 30,000
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